 Stoichiometry Practice Test

Name_________________________________

No work, no credit, no kidding!  All work must be shown in order to receive full credit for the problem.

Ca(CO3)  +  H3(PO4)  (  Ca3(PO4)2  +  CO2  +  H2O (balance first)

1. How many grams of phosphoric acid react to produce 3.74 g Ca3(PO4)2?  (Hint!  This template should start with g of A and end with gram of B).
2. Calculate the number of moles of H2O formed when 5 moles of calcium carbonate is used to start the reaction? (Hint!  This template should start with moles of A and end with moles of B).
i. Using the moles of water formed from above, calculate the amount of water formed in grams.  (Hint!  This template should start with mole A and end with gram A).

ii.  Using the grams of water produced from part I, calculate the number of atoms of water.  (Hint!  This template should start with grams of A and end in atoms of A).
F2  +  NH3  (  N2F4  +  HF      (Balance First)
3.  Calculate the molar mass of ammonia (NH3). ________________

i. If the reaction is started with 4.0 g of ammonia, calculate the amount of moles of ammonia?  (Hint!  This template should start with gram of A and end with mole of A).
ii. Using the moles of ammonia, determine the moles of fluorine (F2).  (Hint!  This template should start with mole of A and end with mole of B).
iii. If you have 66.6 g NH3, how many grams of F2 are needed?  (Hint!  This template should start with gram of A and end with gram of B).
Fe  +  S8  (  FeS  (Balance First)
1. Calculate the molar mass of iron sulfide?  _____________________
i.  If the above reaction is started with 10 g of iron sulfide, calculate this amount in moles. 

ii. Using your answer from above (i), how many grams of iron is needed for the reaction?

iii. If the reaction had been started with 20 g of sulfur, calculate the amount of iron sulfide produced in grams?

iv. Using the calculated amount from above (iii), calculate the amount of iron sulfide atoms.
